MCSF series

LOW PROFILE SLIDE CYLINDER mindman

Features:

@ Parallel mounting of guide to cylinder gives slim compact unit.
@ Flush fitting sensor groove.

® Magnetic as standard.

Specification

Model MCSF
Acting type Double acting
Tube I.D. (mm) 8 12, 16, 20
Port size M3 X 0.5 M5x0.8
Medium Air
Operating pressure range 0.15~0.7 MPa
Proof pressure 1 MPa
Table for standard stroke Ambier_]t e — 107000 (Mo Teezng)
Operating speed range 50~500 mm/sec
Tube I.D. Stroke (mm) Lubricator Not required
%8 10, 20, 30 Cushion Rubber bumpper
¢ 12 20, 30, 50 Stroke length tolerance +(1)'°
¢ 16 30, 50, 75 Stroke adjuster range Extend 5mm / Retract 5mm
¢ 20 30, 50, 75, 100 Sensor switch (%) RCE, RCE1

XProduce after received your orders. ¥ RCE, RCE1 specification, please refer to page V-09.

Order example N

MCSF—12—-50—X11 Theoretical force ']

(Unit: N)

,:|_ Tube 1.D.|Piston rod|Operating| Piston area|  Operating pressure (MPa)

(mm) | (mm) |direction| (mm’) [020.3[0.4[0506]0.7

g 4 IN 38 8| 11| 15[ 19| 23| 27

STROREADSYISTER ourT | 113 [23[34] 45] 57] e8] 79

3'1"‘1”“155;]":: 2 6 IN 85 17 | 26 | 34| 43| 51| 60

X12: 25mm 6 8 out 201 |40 | 60| 80|101]121] 141

% X12 (adjustable range 25mm) is not available in N 191 %0145 | 00} 76 911106

e e Masas 20 0 out 314 | 63 | 94 126157188220

IN 236 | 47 | 71 | 94| 118[142] 165
Cylinder weight .

(unit:g) Installation of sensor switch

Stroke Tube I.D. X\:ie\lltgrhmakers screw

(mm) | 48 612 | 616 | ¢20
Set screw

10 125 — — —
20 132 212 — —
30 171 248 372 608
50 — 357 522 775
75 — — 696 1,053
100 = — — 1,351

Sensor switch
RCE,RCE1

M mindman




MC SF Inside structure & Parts list ¢#8~¢ 20
LOW PROFILE SLIDE CYLINDER

mindman

¢8
d12, ¢ 16, ¢ 20
0
g =CEC @@t%/.
@ | B ® e 0
IR
@
-

et

FHOEOBOGIIER @

|
E\é

Material

No! part name Lo 8 12~20 | Qy ﬁszilsrsrts NOJ part name L & e }(nglilsrg:?

1| Body Aluminum alloy 1 22| Bolt Stainless steel 1

2 | Table Aluminum alloy 1 23| Plug Copper 2

3| Plate Aluminum alloy 1 24| Plug gasket POM 2

4 | Rod cover Aluminum alloy 1 25| Orifice Stainless steel 2

5| Head cover Aluminum alloy 1 26| Nut Copper/Stainless steel | 2

6 | Floating connector Stainless steel 1 27| End cushion PU 2 [ J

7| Piston w2 | 1 28| Plug — %2 1

8 | Cushion pad NBR 1 [ 29| Ball — %2 1

9 | Piston %2 | Py 1 30| Adjuster bolt Copper/Stainless steel | 2

10| Piston rod Stainless steel 1 31| Slide way Bearing steel 1

11| Coverring NBR 1 [ 32| Bolt Stainless steel %3

12| Cover ring NBR 1 o 33| Bolt Stainless steel %3

13| Rod packing NBR 1 [ 34| Bolt Stainless steel %3

14| pi i NBR Tor2 [ ) i i

e AT S Order example
16| Gasker — NBR ] ° stroke length. of repair kits

17| Stop ring Stainless steel 2 T|L_l B(_e Repair kits
18| Rod bush — Bearing alloy | 1 $8 | PS-MCSF-8
19| Piston bolt — %2 1 ¢12 | PS-MCSF-12
20| Floating connector bolt = %2 1 b 16 PS-MCSF-16
21| Bolt Stainless steel 2 $20 | PS-MCSF-20

3% Item 14, Tube I.D. ¢ 8 (Required quantity :2pcs) ; Tube I.D. ¢ 12~20 (Required quantity :1pcs)

M

mindman



MC SF Dimensions ¢8

LOW PROFILE SLIDE CYLINDER

Stroke adjuster at extension end

Stroke adjuster at retraction end

mindman

Blanking plug (M3) 2 points

possible ot use as

(N/2-1)xF operating port 2-M3 X 0.5
N-M3x0.5X6.5 depth
2-M3x0.5X 6 depth 19 F
6 4 Width across flats 5 4.7
A .
'<— ~
e}
JTRE [ JeEe Bt
N
#\J —Or & S
© @ )f) H ©— < g
-~ | = ~
ofs 3 o % . ,
™ [~ N
X ©
g ©
: - f Ty - 3
1 ] 2 ) ~
|& ® ©
~ ~ [}
NS ? 47
3H9 9% x 3 depth A 4.5 AMax07 /=2l
G H
8
A-A
™ 8 M (Table length) 2:M3x0.5
N
o | ©
4 -0 &
J
0
z 25 ¥
zz Max. 9 .
Stroke adjuster bolt ¢ 8~¢ 20
G H
‘H[———‘ D C, M
£ s — ) /
Q il
o S | 8 (D o
¢ 3H9 7 x 3 depth 2 Y,
R . § —_— / ‘
F "
32}
SOESESE
Jik
5
11
# # 1 #H - Adjustable
b o | Order code stror;r:;nge A|B|[C|D M
ﬁ,ﬁf£} 76}7_33
MCSF-8 5 17
8 5| — | 1 |[mM4x07
4 MCSF-8-X11 15 27
MCSF-12 5 23.5
12 7| — | 1 [mM5x08
MCSF-12-X11 15 |[335
MCSF-16 5 26.5 5 | —
el pleg || 1 |a]lm[N]zZz]|2z 16 [MCSF-16.x11 | 15 |365] 8 M6 X 1
10 | 20 [135] 22 [ 8 | 21 | 49 | 4 |495] 58 MOSF16X12 | 20 1405 -
20 [ 26 [145] 26 | 65| 28 | 54 | 2 |545] 63 MCSF-20 > 30 4 | —
=l 26 14'5 20 8. 21 oo | & 69'5 = 20 | MCSF-20-X11 15 40 | 1 M8 X 1
: . MCSF-20-X12 25 50 — (15
M ‘mindman




MC SF Dimensions ¢ 12

LOW PROFILE SLIDE CYLINDER

1]

20

Stroke adjuster at extension end

3

i

Stroke adjuster at retraction end

mindman

Blanking plug(LP-M5)2 points
possible ot use as

(N/2-1)x 25 N-M3Xx0.5%5.5 depth operating port 2-M5x 0.8
2M3X05x6 depth s
8.5 —~— 4 Width across flats 7 - 6.5
‘ 2 -
n
i 3 E‘é @3 5 = _
‘ - _
. 2 o 6 o -
© Pz h i ) « g o
: = Yi N - &
£
o ¢ 8 a S = g s 4 ‘
B 2 _
‘ g i o 2 5 N
@) E SLELCE
A ] 2 k ¥ <
™
@ -© =i —
— f
63 H929%% 3 depth 25 A | 55 || M X0.7 6.5
9.8 EE—
A-A
- 10 M (Table length) 2-M5x 0.8
S
~ I 0
- [eo]
H~ o -G .
J I ©
o
z 3
Y4 Max. 10.5
25 H
9o 9 <
— Q
3
[s2)
T X
¢ 3H9P9%% 3 depth E g
. iy
o
4+ + :
Jil
= =
1T
o 4 4
N T T T
+H— - @1’*’*33 Celp T 1o [m|[N]z][zz
4 20 22 1" 36 65 4 65 76
30 30 12 45 75 4 75 86
50 65 13 80 | 111 6 1M1 | 122
mindman




MC SF Dimensions ¢ 16

LOW PROFILE SLIDE CYLINDER

18

25

Stroke adjuster at extension end

i

Stroke adjuster at retraction end

3/

e

mindman

Blanking plug(LP-M5)2 points

possible ot use as

(N/2-1) x 35 N-M4 X 0.7 X 6.5 depth operating port 2-M5 X 0.8
2-M4x 0.7 x 10 depth 24 35
A 5 Width across flats 8 6.7
—— - || .
2. ~ ||"'
2 © 1@ - - i
&5 & o ! -
(=] d\\ m dﬁ lf)v\\\ = g IE?‘
X O e © . & .
. I S R 5 s ¢ :
<
- 9 @} 8 s @:} g
= f
¢4 H9 % x4 depth A 5.5 6.7
S H 115 NN-M5x 0.8
(NN/2-1) XN
A-A
o 10 M (Table length) 2:M5x0.8
il
s 5 -
= O - -
|
z 3
yv4 Max. 9
G H
E s
Q|
— S
<
¢4 H9 2% x4 depth = gx
g
<
% #
= =
e
5
Code
sora\| ©G H J M N NN Z zz
30 29 | 25 50 | 83 4 4 83 94
50 29 55 80 | 113 6 4 113 | 124
75 39 | 45 | 125 | 159 6 6 159 | 170

mindman




MC SF Dimensions ¢ 20

LOW PROFILE SLIDE CYLINDER

Stroke adjuster at extension end

A

Stroke adjuster at retraction end

=)

mindman

Blanking plug(LP-M5)2 points

(N/2-1) X 60 N-M5Xx0.8x9.5 depth possible ot use as
2-M5X0.8X12 depth 28 60 operating port 2-M5x0.8
12 A 6 Width across flats 11 8.5
 — |
P B )
| e | JE e e-iAE— * =
0
& s ks - o
1l wn
s @0 O 5 el
50 3 @ & o | 5 e
©
bt o ¢ .
! N 1 - _
‘ 2 | 2l S
far) I w f
Y st
-
$5H9 9% x5 depth G A H 55 85
13 NN-M5 x 0.8
(NN/2-1) X N -
A-A
12 M (Table length)
g‘ ‘ ‘ 2-M5X% 0.8
L —
7J__ @ é’ ~
\ J \12
z 3
Y74 Max. 9.5
G H
© 9 .
- 5
3
N [Te)
$5H9 2% x5 depth ;
—_— ,E s
R 2
e}
il
\Q} Wanw
il
[te}
3 4 & @ﬁ* .
77777 B T — Cod:
S(fokee G H J M N |[NN| Z | 2z
6 30 | 29 | 30 57 | 91 4 4 91 | 104
50 | 36 | 45 77 | 113 | 4 4 113 | 126
75 | 40 | 45 | 125|162 | 6 6 | 162 | 175
100 | 59 | 60 | 175 | 211 6 6 | 211 | 224
M ‘mindman




	1_Specification
	2_Inside structure
	3_Dimensions φ8
	4_Dimensions φ12
	5_Dimensions φ16
	6_Dimensions φ20

